Yuled
NIULKING

NN NMYYN7 a7u9n1 n2ad1n NIXIN
SLIM | 32022 :0"pn

7V N'NID'R NYYN NYUDI 7V DDNX >IN N'TANX NNan
NI2Y DIYY ninn win'y 037 n7nkni Smokking anmn

NINIgh nn'y

info@amgazit.co.il / '8 21070 n.x

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



Yuld
NI KING

270

JI'TANN NN2N 7¢ NIT97 NNAYWN NNN DNXIMI DY NID'R DNINA NIFIYY NRYyNN
nY197 0Ma7 7217y nIkAINN ' 7 XY NNYYN vin'y .win'yn 197 NIKINN DX K7
197 N7 IN [121 X7 WIn'wn QRXIND IWNIN'Y NIYADYT N'RINK NI'R NITANK WD
.MYyna niXNN

AN NINA WIN'WT NIKINND IR MY

NNATNI NIN'VA 'YaAT

,N1N71 NY yYINN Uiy NTYIM NIYyNN .T171 NIINA DIZNn] NYyn vin'yn - =
DIPNA ,wM'wn .(Q0'N NNIIRNA X'NY 'KIN2 NO9INA DA MNIN NIYYN] UIN'wn)
.72N7 DNA7 717V 20D NIRN 1'RY

.0INT DND2 WNNWN7 'I¥1 — D'ND /DM'RNN YV '1avdl wnnwn =

YIN'yn Nya Mwynn NX 7't 'Y ™

JIwwa nno NP7TN? 7INDZR IXN V91 ,TAA WNNUN7 'R .

Jwynnn 0T 7NN .WIN'YD Nya nnnnnn nlyynn =

yine 7 NNTA NRT WY UIN'Yn Nya 17T DX NINS97 2IxN2 OX - =
.NYynnn 0'RXIFN D'NNN DTN NY'A9

[I'7 2V MW7 "1 277 'R NINN TN Nwynn NN NAN7 Iy .
.NITIRYT/ qixn /opon

N0 NINYTIYD MYYN D'MN9N NIX NIN7 'R =

JID NY'INT7 NIYYN1 win'y Ny [an NI99d1 wnnwn =

ANYY? oM Ny ninn D7 oy .

IYYn7 101007 TR 1 NI0NNN TV DNO9N DX 2'7TN7 W' (ITAN NNan 1197 =

.DWAL INN 7W QYI0 VN ATN] NIYYNN NIX 7'Y9N7 1IOR =

IX 71N IUNNYUN IXD NN 10 win'vn 1yan'n NIYynnn UX NIXISnna =
abRalY]

AP Mwynn 9w TY DN om Y gnn Nt .

AN NIVY NUYN 7V MYyNn DXk NN =

21010 1'N MYyNd "'y 7D ,NIYynl '1'Y DIY Y¥a7 ' .

YIN'wN) PaX X77 TR IMIX [ONK7 W' 20 NT NYYN] WIN'y nWyl X7 DX =

.("x1moma

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



PARTS LIST -
Vertical Charcoal Smoker:

1)
R

Y®H©®

CICIOIC

@@
[RAR N, T N W A . TR A A N N Y. JR S W S Y S S —

iy
ha/

= () () ()
@E@E@GE

=
ph

Smokestack Damper
Smokestack
Smoker Body

Meat Hook Rack
Smoker Door
Smoker Handle
Smoker Cooking Grates
Temperature Gauge
Door Handle

Left Rear Leg

Left Front Leg

Right Legs

Water Pan Holder
Water Pan

Wheel Axle

Wheels

Charcoal Pan

Yuled
NIULKING

112070 NIRIN

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



Yuld
NIULKING

Parts Bag Contents

16 M6 X 12 mm Bolts 1 M8 Nut
4 M6 Nuts 1 Flat Washer
4 M6 X 30 mm Bolts 1 Spring Washer
2 M12 Nuts
MG X 12 mm Bolts M6 Nuts

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



Yuld
NIULKING

Choose a good, cleared assembly area and get a
friend to help you put your smoker together. Lay
cardboard down to protect smoker finish and
assembly area.

Step 1

Open the smoker door and attach smoker
handle using four M& x 30 mm bolts and four
ME nuts.

Mote:  Latch the smoker door and with the help
of a friend, turn the smoking chamber
upside down.

Step 2

Attach legs to the bottom of the smoking
chamber using thirteen M6 x 12 mm bolts.

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



Yuld
NIULKING

Step 3

Insert wheel axle through wheels and legs
as illustrated and tighten securely with two
M2 nuts.

Note:  With the help of a friend, turn the
smoking chamber fo its upright
position.

Step 4
Attach smokestack and meat hooks

assembly to the smoking chamber using
three M6 x 12 mm bolts as illustrated.

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



Yuled
NIULKING

Step 5
Remove cap nut and spring from

smokestack. Attach smokestack damper
and replace spring and cap nut.

@
) — —
Step 6
Insert the door handle through the hole
in the door and use one flat washer, one | .
spring washer and one M8 nut to secure - ! '
in place.

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



Yuld
NIULKING

Step 7

Attach temperature gauge to door as
shown.

Step 8

:4 Place charcoal pan inside smoker, then
™ place water pan and cooking grills into
smoking assembly onto corresponding

!:‘ brackets.
=

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



Yuld
NIULKING

Vertical Charcoal Smoker Trailmaster
(Assembled)

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



Yuld
NI KING

‘MWynl 71y

nyanY?) 0'NINS NRI7NnNi 07T DNNINA 2INN O NIIXA D72 NYYNN DX NN
.(M1% jwy nod

TIN'A 717 071790 D'INIYN NOY7RP7 NIYWynY? NNNN T2N IX DIMI7R 1M NN
.YV NOX1 2y NIy NIwynn oX

DN7 N (*KN17 MyLI NINM YINY) 'wao 0MNS 7'7TA DTV DMN9N DX 7710
NIX X' ,]Pn INXR? .1919KX - [27 19K nodn A ononw Ty NipT 30 -3 11yaL
YV 112 0'N9N v N7 N1 .(A"2 2.5 7152) MR 0INT YV N9 D'MNO9N KN
.(npmn 2-3 -3) o'NY

1720INY INKRYT YV '"22W NITYA IWAN [IW'Y DYV DR N'AYN7 [N W12 DNON UKD
.0'ma

[N .0'AN 0N NNIX X771 [IY'Vn XN DINT ATy DA DY NNY YN
.NITDI " ,NNM 1A DN 077102, [1DNN7 DXNNA ,0MN DX 9'7NnY7

1751' [WYNI DINAWY *TD [ITAN NID'NN |2 NINA IXWAT NNK N2OWA [ITN DX 1TO
JTA7 TNy

25 7y . pm 218N DX PITA7 T DTN DR NINSYT 'R .NWyNnn NINYT DX 1120
21w nipT 15 -3 oI NPT NN

Hiynn n7nnn ANX7? DNo9N AR DR 227 'R

DX 2172 .0INT YY DND IX 0'A NO0INA IX AW PN NIYY 3 -n JNX [IY'Ya
770 DX NIN9Y7 T2 DIN2 NTMY 19951 UNNWN .ONS9N 2¥N NXI 0NN 0791
DNIX NINI YV '22Y IX I DND Q0IN .77 D' §'0IN7 19WUnd wnnwn
19NN VIIN? nan 7y, DN9N 7V DNIX I9WN 78 ,NIYYNIY DN9n 72y Ni'Tya
.N7yn '975 onNNN? 0'MNon

ANI' NI DIND NV'Y79) [WIVNN [ITAN DIP'NM DX NRYY? [IY'Y DIYY 3 INX7 ¥
(Mwynn nxp Nniy? omnsn nan 17

.NANKN NOdN NIYX¥NXI DYV [WYNl DINN NIO'

N'Dd +NIY N'9d . D'MN N7 qUOLY NIYNN NNP7 N 20N |07 21X DX
.YPN NN 71 on + Ny

ANK7 .D'TIARI N2 2D (It [IY'YY 7190 INX7 27NN DN9] Wnnwn? [N
[NIX N7 NIN7YUN DN9N AKX DR R'XINYT N1 (71w 9101) Nznin DN9NY
.N5011 DYS DN YNNWN71 19XNN

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



b
NI KING

'K DX Y'7MIN 1'R VIYON ON9N N NDINRNTE NNNN UKD DX 2'91 0INT YV DND
TIX [ONK .20'N DNIA0 I'N' WIN'WA DI'RY DNON 'PY D 27 AT TNN IO Wi
W' IO Y2’ K7 DWA IR NINTA 2071 YIND IRYINY DND . W2 DI7N DNON
.0NO Q'oIN7 W' 1T 7w n21Ta nimd 71w1% .ono A"p 2.5 - 7w nimda wnnwn?

YV Y
120 WId17 [N . DN9N 7Y D'NIIMN D'NY7 YY '22wN 2910 [IY'YR Myo0 DX NN [WYn
.D1IY 1WA 1107 D'NNNY 'TIN' QYO YV 757 TWND DIV D'YYN DAY

:nUoN [y

X771 D' X77 X NIKTINN 97 NMIwynn DX TO0 .0'M X77 02 NIYyna wnnwn? N1
.07¥ Q71 0'ay D'P"VO N'7X7 NAIV IT NV'Y .YV NaY

JIYWY AT ANIF XP AvhY at T

AYAN NIDIN Ny7' 1

,NO2NN NIX NNO .TNIM DINTA A7TN2 YNNWYN TWAN NIDIN NT'A DX 21727 nin 7y
A9TNN NTYA 21T, 721W7 A¥pIny Dima'nn At oimnA

TA72 AR TV YIaRT N TN K7 2710002 WY It 1nd AR X7 |wivn It
T2V N'WYI NRTAN QNI NNI0AN XD DINTA 77D T 7Y N TA L DIm [ITAN DORN
7V 2Nw7? nin 7y 2waN DX 27N X ItTan 7w AN nayvn 7707 27mn nonn
.nrooy

JIY'VUN YN [INTN

NNIVISNL ,0'MNON A0 ,NN ,WIAN 7V [IY'Y-71W0 AT 7V D'Y'9YN 021 O'NIA
,ANN9) N7TN DN2A DAY 1901, NINY ,NAIX'N NIIVIOSNL ,NIYYNY? 01DINN [ITAN
[WY7 TINN NWR .27 DRNNA DINWA 71U AT 27 .'1217wan a1y omn N1Iv1sno
TINA DX (7M1 Y'Y DINE XA T'AN D' NYPY 0FT'97N OX ) NT'AN 7V 1N wa
2un XIin NUyNN NNRmn 2 NNy IX, Nitvn 15-n N> n1v1snov L,yina 1y

NIN N'XIN7 NNOW DX .71w2%7 A1 QoIn TIXNN NPT NN DX IR ,0'N 19 7un qun 1000
1w Nt Qoin [Iwyin 197 Nppnnn Twan

DNIX NIN TX 771 D'MND VN7 NITYA T¥2 D'ANDN NIX 1YAN ,0N9 9'0In7 NIX W' DN
.Mwuynav nnon 7w

;D17 Niv

PIINNY FTD IATN NIX [1DN7 XY .00 R N7 71W0 NNIXYT TAN JNNIEON (1YY
D'NIIX DY JNIX V1'NINYT 710 ATA 7W 1R'7 [11ON 121NN ANNKRD AT 1197 pm aae
[N .ANNKRD AT DX [1DN7 T Y7nmy |nt? nyw TIy 9oIn T'AN .DMYINRNA K71 0¥ayn
(NNIT172 N L1112 ) IUYT 1IN0 DIREWAD 7Y DWONN AT DX

211 WD DX QI0Y , VAN K7 TV D'NIRDT DINNANA NI NN 7WaNn Ywan DX
. DIM'N7 INIX IXUNI DINNI7R

IN'NY' 21 YN NX YAX'Y 20N YWWan NXR 0NN N7y 7w yay '71|7'7 T2

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



Yuld
NI KING

-2ITNhNI [IONKX

IXN NT'AQ, [ITA NIMRYN D171 NIYYNDY XTI IIYRY WIin'y 197 =
20N D'P7NN DR WAY NINWAN 17117 [1201 D' VYN YNNWN

("M 71w e wnnwn'? [N1) YN 'NOYN DX w7 iy .

nIYyNN 157 PN 197 nwynn N7 non 2van oroa Gnnfar T
UNNYN? 'K .NW' 07010 DY 2217 W' DN INK7 .0N7 N'70n oy nwyt
178 DMXIM 131 DINIY DRI L,0N1N DRI IND N2VNT7 [P NN 1Y
MYYNN 7V win'y'? 0MIoxI N¥nin 0'7'on

NTI7N 7W NNAX YIm? nan 7y ANRD ATAN M DIpna NYynn DX [ONK .
10'21 WNNWNY? Y7nim |2 1D ,0Wal NINT 190 NIWyNN 7V [An7 ' 7Nl

.NYynn NX NIO2Y7 'O O'RNN

:VIAR 0'02 7V DPITRN NITIYD 190N Y¥aAY7 W' . NIYYnn "N NIIXNY

T vl TA72 N7 NY70n DY NWYNN DR N .

.0 IR/ DOV 7Y NIN WNANWRY 'R .

.0'220 Nn'm7 mwyn ‘PN o'dN7 PR .

SNNY MWL 71WN NYN DX NIV nu? v win'y 5 NG .

NI'RYNT71I NWANT W' R'Y N0 700 NA0NE NNIMS NIRWI NMYyNn DX =

Ji7T 30 NiNdY win'w X749

Uin'wn ¥ YNl LIrminigE? NIk v nnmy? 12" nnivn? - nayan

ANTIZN NYOIN DA P Ay L,(D1V10Nd DITIYNN) ATIZN 'Wam 0nina

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



Yuld
NI KING

NIMNXY? D'NAN

JITANN XN 7W nwAIm y'onn 171 017 NIAYN NAXN oY 721NN NIMNRN -
IN/ D2DN TVIMN X71 111N 2IMD) TA%71 nwDIN DM 27N NiMNRN =
Jwynn 7w n7yonn

.T272 Nimn won% nopn nimnxn =

7V N'DIT QTIVN 97 ,0NIMNX, AYDIA 0 0'wTin 12 - 2 aospn nilnxn

JIYYNN 7w 11X 7701 NXRY D9

21'w7 DXNNQ XN DI 770 7D 70N IX [PNN NNAND DMK NNaona .
Y20 win'y 7w 'X72 nNaona 07NN WK 097N 7710 X7 ,1van nnyT
("7 ninwN)

2IN2D NAID1 X7 NADINN NYAIN N7PN D7IX MYy 2007 NTVIM nawynn - .
JIMNKRN NN20N2 NOoDN NI'R IT NNAINA

NX 1'0' N2 MY NoIN X7 YUK DX 'Y Mwyna 719'0 'o IK719'0 7D .
2XINN 7Y NIMNRN

X7 QI7'n 77N win'y X120 9 1A% 0 9170 7N wnnwn? naine .
AXINN 7V NIMNXD DX Y0 D'YAIN

197 X7 WIN'wn NRYIND T2 DA MYYN71 NT'N2 N9PN NI'X NINNRN =
NP7 NMONK ,17W1 719'0  NIKINN

'N1DU NIATN NYIITN NNY DX NS Ny D Nyalg nNann ninn =
N77NN D AN NT'NAL|INLVMY 'RIYK 'O NI MY non' N7 N1y
2N (VAjaw Tvind NdI A X7 NIRY L7010 NIRMP) NIMNRD DNA0N2 NA'N
INI2TY (NN 197 NNY DR NI7YA 'RIWK 000 NI

:nodn X7 NI'MNX

NIZNN ,NIKIINND '97 K7 WIN'wn 1MW A7PN IX W0 7D Nodon nI'R NIMNRn =
JIRIINN 97 X7 DpTRRI 719'0 'Y

7w Y10 'X72 ,NTI7N ,'0079 77N ,210 DN Naw RN N0 R ITNIMNR. .
"10'21 NNOID X7W Mwyn? 71 IX (N™7X W 7V waTd) DRIwn Mwynn 770
UNYI OWA 191 NNN'NYY D'RNN

DWA 7¥ IR AT 'RINT7 N9'WNL|I'7Y NDN DNAIY 771 70 NOON NI'R NIMNRN =
Unvl TMa

210 0 NIy mT AT NN Nty noon X7 nimnkn .

MUY X7 IR w9y P 72 N9 NN 1271 mwyn? N niMnkne .

www.amgazit.co.il / info@amgazit.co.il / n"va 1.7 n'manx w7 X2’



